MATHEMATICS SSC- |

(Science Group)

Time allowed: 2:40 Hours

Total Marks Sections B and C: 60

Q.2

SECTION - B (Marks 36)

Attempt the following Questions.

(9x4=36)

(i)

1 6 6
if A= ,B= ,C=[8 -11] then find
-7 5 =7

X when X =A4"-2BC

Solve using logarithm

S J e dde (S @S

B 2x+15 D 3x+10 C

S o WS Sl S BC I8 K S 60

39'mPR =15cm 39 ST UOR owe JS& IS 69
Cwd (S 'x' $ogy mPS =2cm,mSQ =3cm
-5 pelas

1x4 OR 1x4
S X 4 {1 6}3 [6}c [8 -11]5 x >7.26 '
,9) = > = > = - e
=15 =7 3/0.382
X =4 -2BC S xS polan Cd
(i) % % % % Verify that the given points are collinear.
23%12%2x 2 5
simplify — 12 27 (-2,15).3,-5).(0,7)
o x4 | OR o 1x4
102x 43 x 182x 814 -wabwd‘SdSa &S p,S el
S paice
(iii)  Find the value of hen 1 P-T)=2 5 -3
ind the value of x, when log, (x ) If A= y then show that 4"'4=1
N e . _
log,(x* =7) =245 > (S polae Cwd (S x 14 | OR . a
A'A=145 )5 ol g5 A:{z _J S
™) £y =5+2, then find -
y=Vse2, if Z=1-2 then show that Z — Z = 2iIm(Z)
1 1 {7 2 3
a) y+—b) y——¢) y &7 1x4 | OR 2+2
y ¥ ¥ = .. e . 1 2. ¢
) Z-7=2Im(Z) &S S b g Z=—-2; 5
S pslas 55 gy v £l 42 S 2 3
(v)  Use factor theorem to factorize: Find the square root of.
X +5x7 -2x-24 . x4 | OR x' —10x +31x* +30x+9 1x4
205 o e e (S ($ 525 dlis -02sS polas yir
(vi)  Find HCF by division method If a+b=>5,ab=2then prove that @’ +b’ =95
2x° = TIx* +x+6, 6x° —x*—Tx-2 2+2  LOR 1x4
255 p9kae waud dasydy elaclsle @ +b =954 WS b $ atbh=5ab=2 S
(vii) Solve the inequality. If thegiven figure ABCD is a parallelogram, then
Y+5  25_4x find thevalue of x and y .
< . A B
10 5
. 9x°
eSSl b or 1x4
@y +6)° 1082
D C o
X g gV S)lgie S ABCD S (38 83 S8
-5 pelae pried Sy
(viii) :Prove that “Any point inside an angle, equidistant Write the given equation in y = mx + ¢ form. Also find
from its arms, is on the bisector of it”. | ; g x
S ool s Sl (55 se Soukil S ogl) wwS S x4 or | VAUESOTMandcTETr=d 242
S 291 ool dadi 09 5 gw Aol Goluww 0593L x
5 3 et c o3l m - S e S = mx + SN
-2 gy &lg 4 ol S oS e B Sy =mrve 54
(X)  Forthe given figure, find the length of BC . In figureS7 D@ and mPR =15cm
A _ _
mPS =2cm,mSQ =3cm then find value of 'x'.
1x4 OR 1x4

(Mathematics Page 1 of 2)

SECTION - C (Marks 24)




Note: Attempt the following questions. (3 x 8=24)
Q.3 | Use matrix inversion method to solve system of Prove that the sum of the lengths of any two
. . 2x+y=1 sides of a triangle is greater than the length of
linear equations. .
3x—y=4 the third side.
rsSn 5 056 55 239w S oglslen S s3T5 Rl 55 F i oS &S S g8
S U s e S 153 o (Slad (S 2o £ S degame K 0 gslaa)
-o Ggw
Q.4 | Prove that if the square of one side of a triangle is Prove that the Parallelograms on the same base
equal to the sum of the squares of the other two and between the same parallel lines (or of same
sides, then the triangle is right angled triangle. altitudes) are equal in area.
o B Gkl S e S S Cdin S S xma oR | Sllgke Bl 5 ousl o S A& (S coll 5y
S vgmre S ogsled (S ol Ugigs 4 ywss Sl S ool gl das ousld g JEAI ¢ MBYI
Clie 4gl3)l A3l Clie 09 85 g ol S 48 game gyl S Of Llogw adly Oleys S das (oS
—a2 S -5 0gw s e 4By 09 (Vg 212
Q.5 | Construct the AXYZ, draw their three medians The polynomial ax’ +bx* —4 leaves the
and show that they are concurrent. Write steps remainder of -3 when divided by x-1land
of construction. leaves the remainder of 12 when divided by
mXY =9.5cm mYZ =8cm mZY =75° 1x8 | OR x+2.Findvaluesof a andb. 4+4
oS Bllawy 55 S ool -l XVZ Cdie S5 ol 3 x—1 oS ax’ +bx —4 ed) S
oo LS5 el o 09 46 25 G 29 B v 355 B 5 4208 0 3 B
oS 0205 polas pwied (S b 9l a 2 12
(D)-
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SECTION — B (Marks 36)

Q.2

Attempt the following Questions. (9x4=36)

c02 S J> OVl g i 3o 24 el Jlgw

(i) 11 -2 6
If A= | o ,B= 4 7 then find X when
4/
X+44=17B Solve using logarithm 347
L 56 1x4 OR 2.981 1x4
pobae Cued (S X §8 A=L 2},B={4 7})5‘ S J> w dde (S 05 S
X+44=TB 4 S
(i) my 1 54m=2n+ly gn-2m Factorize using suitable formula:
Simplify: > -
10 mX 25m n . 1
x4 @ OR 64a’b’ ——— 1x4
-u:\)sj,a.om ab
~02sS 635 e dde (S Yga)ld cenlia
(iii)  Find the value of x , whenlog,(x* —1)=3 6 2 L
) < If 4= 4 3 then showthat 47 4=1
| -1)=3 > Cangd
2 log, (" =D T S ok S x4 | OR 6 2 1x4
AA=145 S ol g5 A:L 3} S
(V) ifq=+/10+3, then find —
a=v043, enl n 1 If Z=%—§' then show that Z + Z = 2Re(Z)
a)a+— b)a—— c)az+—2 1x4 OR L1 1x4
a a a — Z
_ Z+Z=2Re(Z) &S p,S ol g Z=———i 5
oS o3t 55 31 4K 13 5 43
(v)  Use factor theorem to factorize: \2x+ 3\
5 ) Solve'———-2=38
X +8x" +19x+12 . 1x4 OR 3 1x4
2)S Jo cw dde (S (5525 dle - S U=
(vi)  Find HCF by division method If x—y =3,xy = 3then prove that x’ — y°* = 54
X =5xt +5x—4, 2x° -9x* +9x -7 242 OR 1x4
'df)sfﬁl*‘ﬁ““jjd’?)“l?ﬁb&‘éb x3—y3:544§w§@b&33 x—y:3,xy:3_,§|
(vii) Write the given equationin y = mx + ¢ form and find If the given figure PORS is a parallelogram, then
. find the.values of @ and x..
valuesofmandc > -2 — _6 s R
€9l M L9l xS e Ko S y:mx+c§i_12_6 1x4 OR 1x4
2 3
5 54 @B TT5ie ST PORS s (5 (5 S8
polae ried (S x 9l a
-2
(viii) : Prove that any point on the bisector of an angle is Verify that the points.(—2,-8),(1,1),(4,10)are
equidistant from its arms. .
il SOl ol S o9l S S )8 ol 1x4 OR | collinear. 242
(X)  For the given figureﬁ = AC .and D is mid-point In AABC,m OBC  and mAL = S,mﬁ =10,
~ A _ -
of BC . Prove that /1= /2 mAM = x,mMC =18 —x, then find value of mAM
A
B D c 14 OR 1x4
§ BClks D sl oAB= AC om0 S& IS 6
s A= L248 1S coli o g ahad ey B 29! LM [BC g ABC CEdin
mW:x,mM7C=18—x, mﬂzS,mE:IO,
-5 polas mAM &5 Ogw
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SECTION — C (Marks 24)

Note: Attempt the following questions.

| (3x8=24)

| -‘_,3)5&03"3“04.&5)3:&33




Q.3

Use matrix inversion method to solve system of

Prove that “If two sides of a triangle are unequal

linear equations: xX+y=5 in length, the longer side has an angle of greater
2x—-y=17 measure opposite to it”.
S sSan S 0sdb oS 4 ex S Ugilslus S 65 2xa | OR Ol (S gDl 93 S Cllie (S SIS ol 5
-2sS J> w 2de dol) g 2ol S o 0l 03b) o5 Ugw 4 iy
Mo (S o) dIy dulw S s Sgez)sluie (S
- 54 03L) (o0
Q.4 : Prove that “In a right angled triangle, the square of Prove that the Parallelograms on equal bases and
the length of hypotenuse is equal to the sum of the having the same (or equal) altitude are equal in
squares of lengths of the other two sides”. area.
Sl (S 59 S i gl JIASE Sl oS (S el P4 OR ol iy ol aBly gy 09l iy oS (p)S cul 2
Vg S Vgl é@hbéugiﬁf 4513: @)ﬁ; Sew sy s 4dy K& eI Slgre i
-2 P R TR -0
Q.5 | Construct the triangle A POR , draw their altitudes X =y eyt ey ' X' -y’
and verify concurrency. Write steps of Simplify RN +XZ4+ XY+ Yz T +y’
constructions. -

— — -5 paiSa
mPQ =85cm  mQOR =Tcm msQ=45°  1x8  OR 4+4
xS (EU5))) d90e Sl -ple APOR i

FSS- o Sgw Al oy 09 &S (p)S Gadaad )l
-0 (@ Jos
-(B)
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